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Part-I (Botany)
(2AAT S ¢ Tfegw [ewiv)

1. Name the edible part of an apple. 1
ol GBI ISR A R
2. Why grafting is not possible in monocot plants ? 1
GGG Sfere (St I 7S T {ow ¢
3. Name the micro-organism that converts milk to curd. 1
S 0 G FoE 9 SGGRCOE a1 By |
4,  What is the function of DNA ligase ? 1
% @ 9 #aEE T & 2
5.  What is missing link ? Descr?be brieﬂy with an example. 1+1=
4RIl TFAN A R 2 Bl S vy 2 Fa
Or / g2t

Define Recapitulation theory with examples.

TAEREAE 2RI TSAMT el |

6. What is transgenic plant ? Mention two advantages and one example ¢

transgenic plant. 1417

SRR g S 1@ 7 SR S 707 syt s by e ot
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Write on the importance of biopiracy. 2
(TR ewed R o
7.  Differentiate allelopathy and antibiosis. 1+1=2
afeer ol B GFGabEs jAFad T4
Or / 4!

What is age pyramid ? Draw the expanding age pyramid and label its
parts. 1H1=2

7271 RIS S & ¢ RwRe Paifes ba ol e siexiEs bz 54|

8 Write short note on the following : (any omne) 5
5y (o1l foval (e o)
(i) Gene gun '
for 7%
(ii) Tools of genetic engineering
R ifeTze e
(i) Gene cloning
fom FR
9 What are the conditions of biopatent? :
| 7T 5 TR & 2
[3] '
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Write about the function and principle of ELISA technique.

ELISA @ifFme 3 =% a9 Raw B |

10. Write scientific name and utility of the following plants: (any two)
- Hlaril=)
wore Al Sferzd ([@eife Wi =i 9 o|l - (R 7o19)
(1) Teak
(oo
() Indian ginseng
o[l

(c) Chinchona
[PRIean!

(d) . Sissoo

g

11. Write briefly the chemical origin of life on the earth. 3
qﬁra@-@%«wmﬁaf@w@ﬁm B3 Tl |

Or / 924

”Survival of the fittest”, explain the statement with the help of Darwin's

theory. 3

oo TG, TOE FOTI TS R T Iyt v

4
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12. What is tissue culture ? Write the advantages of tissue culture.
' 1+2=3

Feiede B ¢ SR FRAl AR B

Or / &34

What is meant by somatic hybridization ? Give an account on necessary

steps of the method with an example. 1+2=3

I e e B @ > @t TuizaerTe G2 -elfFare SR B9 FRd 396
ol | ‘

Define fermentation and describe briefly how alcohol is produced in this

13,
i[:2=8

prOCESS.

e eifera e it o < o0 (@ e 4 2 O 5 1 T |
Or / &34

What are biopesticides ? Write briefly on biopesticides with examples.
1+2=3

o oA o THIEIE (S G [Eca il |

14 What is double fertilization ? Describe the process with diagrams from the

stage Of megaspore formation to zygote formation. 1+4=5

ﬁ-ﬁmﬂ%?m%ﬂmwwmmwmaﬁw,

[5]
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Or / 99441

Why meiosis is essential at the time of sporogenesis in angiosperms ?
Explain the process of development of male gametophyte in angiosperms

with suitable diagrams. : 1+4=5

@ﬁﬁm@wwwﬁ@ww%m@ﬁﬁ@ﬁ@m
(e Rl A S7ge e Tl <+

15. What is genetic engineering? Describe the major steps of gene cloning

technology. ‘ led=5
e sifeT qﬁf?f@ﬁ@’ﬁa@@%mﬂmaﬁﬁmi

Or / S

O]}

Write an account of biotechnological applications in medicine.

%ﬁf&ﬂﬁmaﬁﬁﬁaﬁ@mﬁmﬁm@ﬁaﬁﬁw
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Part-II (Zoology)

(fEStm=e ¢ effiiEes)
1. Fill in the blanks: (any two) 1x9=2
QT 918 27 3 3 (Reprean qot)
(1) Anterior part of sperm is called
STl (R SO _ I @R =
) Archaeopteryx is a connecting link between reptiles and
SIFADGRS 2o A WA 9 A G|
(c) Genetic constitution of an organism is called
_ ze g5l GRa o TR
(d) Cancer causing viruses are known as
=45 (! S <=1 ST RS e Pl =
1x2=2

Answer any two :
Tl w1 Bes el 8

What is interspecific hybridization ?

(@)
| el A 2
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(b) What are the restriction enzymes ?

6125 il CHRCE T e bl

(c) What is the first infective stage of malarial parasite in man ?

TR (TS EIERIA AT AL TS 7ot & 2

(d) What is ex-sifu conservation ?

IR el S 2

3.  Answer any four : 2x4=8

Rz bifbiq Ted ol 3
(1) What are the sif;nificance of crossing over ?

“Aesifes aeg & 2

(b) Write briefly on haemophilia.
ferfelerr [ st foval |

(c) What do you mean by adaptive radiation ?

Sl G Ifre 6 gE 2

Write the various components of immune system,

(d)
sl ©7d e CARR R i
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(e)

(f)

Write the various causes of water pollution.

o) evEcl Rifem PRe TR o
What are the factors of population growth ?

o s FREE & 2

4  Write differences between : (any two) 2x2=4
Rt qoIT A 77 8
. (a) Parturition and lactation
2T O A
() Down's syndrome and Klinefelter's syndrome.
OIS o o Ferepid Har
(c) Vaccination and immunisa;cion
DR O SRR
() Convergent evolution and divergent evolution
SR R Sl S TR |

t labelled diagram of a human sperm.

2+1 ::.3



Or / 9241

Diagrammatically express the Watson-Crick's semiconservative models of

DNA replication. 35

1554 Wi [@ee OfEe DNA I 9% FAEFe afegfossm bam st em 1|

6. What are sexually transmitted diseases? Write its various types of

preventive measures. 15+2=3

fBiest FelRe G@ls Q1 GG IS Q@I 2 @R @il eftatas e & & 2

Or / 9

Write the various methods of cancer detection and diagnosis 3

o] [y o DesaR Amers &Rl

7. Describe about the Pedigree analysis. 3

AT Boge ReEd ~mioes! zm’:n 4 |
Or / 921/
~ Describe about the '‘greenhouse’ effect. | 3
D 2ol =i ] 1

8. Describe the Mendel's laws of inheritance. :

AT exioffs TR T R T

10
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Or/ WQ/?Y

'DNA -S - - 1 - .
is a genetic material', explain the statement with the help of Alfred
e

Hershey and Martha Chase experiment
. 5

~
L >

D 'b h - - 2.

ecosystem.
SRS 97 9O [fen (Nfes gae =fe e did 399 i1
Or / &4/ |

What is ecological pyramid ? Explain different types of ecological pyramid
1
21325

with diagram.

sesfe P & 2 W@%%WWMWWW

F41 |
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